# On Class of Hypergeometric Meromorphic Functions with Fixed Second Positive Coefficients

F. Ghanim, \*M. Darus

#### Abstract

In the present paper, we consider the class of hypergeometric meromorphic functions  $\Sigma^*(A, B, k, c)$  with fixed second positive coefficient. The object of the present paper is to obtain the coefficient estimates, convex linear combinations, distortion theorems, and radii of starlikeness and convexity for f in the class  $\Sigma^*(A, B, k, c)$ .

2000 Mathematics Subject Classification: 30C45, 33C05

**Key words and phrases:** Hypergeometric functions, Meromorphic functions, starlike functions, convex functions, Hadamard product, fixed second positive coefficient.

#### 1 Introduction

Let  $\Sigma$  denote the class of meromorphic functions f normalized by

(1) 
$$f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_n z^n$$

that are analytic and univalent in the punctured unit disk  $U = \{z : 0 < |z| < 1\}$ . For  $0 \le \beta < 1$ , we denote by  $S^*(\beta)$  and  $k(\beta)$ , the subclasses of  $\Sigma$  consisting of all meromorphic functions that are, respectively, starlike of order  $\beta$  and convex of order  $\beta$  in U (cf. e.g., [[1, 3, 5, 16]]).

For functions  $f_j(z)(j = 1; 2)$  defined by

(2) 
$$f_j(z) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,j} z^n,$$

we denote the Hadamard product (or convolution) of  $f_1(z)$  and  $f_2(z)$  by

(3) 
$$(f_1 * f_2) = \frac{1}{z} + \sum_{n=1}^{\infty} a_{n,1} a_{n,2} z^n.$$

Let us define the function  $\tilde{\phi}(a,c;z)$  by

(4) 
$$\tilde{\phi}(a,c;z) = \frac{1}{z} + \sum_{n=0}^{\infty} \left| \frac{(a)_{n+1}}{(c)_{n+1}} \right| a_n z^n,$$

for  $c \neq 0, -1, -2, ..., and a \in \mathbb{C}/\{0\}$ , where  $(\lambda)_n = \lambda(\lambda + 1)_{n+1}$  is the Pochhammer symbol. We note that

$$\tilde{\phi}\left(a,c;z\right) = \frac{1}{z^2} F_1\left(1,a,c;z\right)$$

where

$$_{2}F_{1}(b,a,c;z) = \sum_{n=0}^{\infty} \frac{(b)_{n}(a)_{n}}{(c)_{n}} \frac{z^{n}}{n!}$$

is the well-known Gaussian hypergeometric function. Corresponding to the function  $\tilde{\phi}(a,c;z)$ , using the Hadamard product for  $f \in \Sigma$ , we define a new linear operator  $L^*(a,c)$  on  $\Sigma$  by

(5) 
$$L^*(a,c) f(z) = \tilde{\phi}(a,c;z) * f(z) = \frac{1}{z} + \sum_{n=1}^{\infty} \left| \frac{(a)_{n+1}}{(c)_{n+1}} \right| a_n z^n.$$

The meromorphic functions with the generalized hypergeometric functions were considered recently by Dziok and Srivastava [6], [7], Liu [10], Liu and Srivastava [11], [12], [13], Cho and Kim [4].

For a function  $f \in L^{*}(a, c) f(z)$  we define

$$I^{0}(L^{*}(a,c) f(z)) = L^{*}(a,c) f(z),$$

and for k = 1, 2, 3, ...,

(6)  
$$I^{k} (L^{*} (a, c) f (z)) = z (I^{k-1}L^{*} (a, c) f (z))' + \frac{2}{z}$$
$$= \frac{1}{z} + \sum_{n=1}^{\infty} n^{k} \left| \frac{(a)_{n+1}}{(c)_{n+1}} \right| a_{n} z^{n}.$$

We note that  $I^{k}(L^{*}(a, a) f(z))$  studied by Frasin and Darus [8]. It follows from (5) that

(7) 
$$z \left( L(a,c)f(z) \right)' = aL(a+1,c)f(z) - (a+1)L(a,c)f(z).$$

Also, from (6) and (7) we get

(8) 
$$z \left( I^k L(a,c) f(z) \right)' = a I^k L(a+1,c) f(z) - (a+1) I^k L(a,c) f(z).$$

Now, let  $-1 \leq B < A \leq 1$  and for all  $z \in U$ , a function  $f \in \Sigma$  is said to be a member of the class  $\Sigma^*(A, B, k)$  if it satisfies

$$\left| \frac{z \left( I^{k} L^{*} \left( a, c \right) f(z) \right)' + I^{k} L^{*} \left( a, c \right) f(z)}{Bz \left( I^{k} L^{*} \left( a, c \right) f(z) \right)' + A \left( I^{k} L^{*} \left( a, c \right) f(z) \right)} \right| < 1.$$

Note that, for a = c,  $\Sigma^* (1 - 2\alpha, -1, k)$  with  $0 \le \alpha < 1$ , is the class introduced and studied in [8]. In the following section, we will state a result studied previously by Ghanim, Darus and Swaminathan [9].

# 2 Preliminary results

For the class  $\Sigma^*(A, B, k)$ , Ghanim, Darus and Swaminathan [9] showed:

**Theorem 1** Let the function f be defined by (5). If

(9) 
$$\sum_{n=1}^{\infty} n^k \left| \frac{(a)_{n+1}}{(c)_{n+1}} \right| \left( n \left( 1 - B \right) + (1 - A) \right) |a_n| \le A - B,$$

where  $k \in N_0, -1 \le B < A \le 1$ , then  $f \in \Sigma^*(A, B, k)$ .

In view of Theorem 1, we can see that the function f given by (5) is in the class  $\Sigma^*(A, B, k)$  satisfying

(10) 
$$a_n \leq \frac{|(c)_{n+1}| (A - B)}{|(a)_{n+1}| n^k (n (1 - B) + (1 - A))}, \quad (n \geq 1, \ k \in N_0).$$

In view of (9), we can see that the function f defined by (5) is in the class

 $\Sigma^*(A, B, k)$  satisfying the coefficient inequality

(11) 
$$\frac{|(a)_2|}{|(c)_2|}a_1 \le \frac{(A-B)}{(2-(A+B))}.$$

Hence we may take

(12) 
$$\frac{|(a)_2|}{|(c)_2|}a_1 = \frac{(A-B)c}{(2-(A+B))}, \text{ for some } c \ (0 < c < 1).$$

Making use of (12), we now introduce the following class of functions: Let  $\Sigma^*(A, B, k, c)$  denote the class of functions f in  $\Sigma^*(A, B, k)$  of the form

(13) 
$$f(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \sum_{n=2}^{\infty} \frac{|(c)_{n+1}|}{|(a)_{n+1}|} |a_n| z^n$$

with 0 < c < 1.

In this paper we obtain coefficient estimates, convex linear combination, distortion theorem, and radii of starlikeness and convexity for f to be in the class  $\Sigma^*(A, B, k, c)$ .

There are many studies regarding the fixed second coefficient see for example: Aouf and Darwish [2], Silverman and Silvia [14], and Uralegaddi [15], few to mention. We shall use similar techniques to prove our results.

## 3 Coefficient inequalities

**Theorem 2** A function f defined by (13) is in the class  $\Sigma^*(A, B, k, c)$ , if and only if,

(14) 
$$\sum_{n=2}^{\infty} n^k \frac{|(c)_{n+1}|}{|(a)_{n+1}|} \left( n \left( 1 - B \right) + (1 - A) \right) |a_n| \le (A - B) \left( 1 - c \right).$$

The result is sharp.

*Proof.* By putting

(15) 
$$\frac{|(a)_2|}{|(c)_2|}a_1 = \frac{(A-B)c}{(2-(A+B))}, \qquad 0 < c < 1$$

in (9), the result is easily derived. The result is sharp for function

(16) 
$$f_n(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z +$$

$$\frac{\left|(c)_{n+1}\right|}{\left|(a)_{n+1}\right|}\frac{(A-B)\left(1-c\right)}{n^{k}\left(n\left(1-B\right)+(1-A)\right)}z^{n}, \qquad n \geq 2.$$

**Corollary 1** Let the function f given by (13) be in the class  $\Sigma^*(A, B, k, c)$ , then

(17) 
$$a_n \le \frac{(c)_{n+1}}{(a)_{n+1}} \frac{(A-B)(1-c)}{n^k (n(1-B) + (1-A))}, \qquad n \ge 2.$$

The result is sharp for the function f given by (16).

## 4 Growth and distortion theorems

A growth and distortion property for function f to be in the class  $\Sigma^*(A, B, k, c)$ is given as follows:

**Theorem 3** If the function f defined by (13) is in the class  $\Sigma^*(A, B, k, c)$ for  $0 < |\mathbf{z}| = r < 1$ , then we have

$$\frac{1}{r} - \frac{(A-B)c}{(2-(A+B))}r - \frac{(A-B)(1-c)}{(3-(2B+A))}r^2 \le |f(z)|$$

$$\leq \frac{1}{r} + \frac{(A-B)c}{(2-(A+B))}r + \frac{(A-B)(1-c)}{(3-(2B+A))}r^{2}$$

with equality for

$$f_2(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \frac{(A-B)(1-c)}{(3-(2B+A))}z^2.$$

*Proof.* Since  $\Sigma^*(A, B, k, c)$ , Theorem 2 yields to the inequality

(18) 
$$\frac{|(a)_{n+1}|}{|(c)_{n+1}|}a_n \le \frac{(A-B)(1-c)}{n^k(n(1-B)+(1-A))}, \qquad n \ge 2.$$

Thus, for  $0 < |\mathbf{z}| = r < 1$ 

$$|f(z)| \le \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \sum_{n=2}^{\infty} \frac{|(a)_{n+1}|}{|(c)_{n+1}|}a_n z^n$$

 $|\mathbf{z}| = r$ 

$$\leq \frac{1}{r} + \frac{(A-B)c}{(2-(A+B))}r + r^2 \sum_{n=2}^{\infty} \frac{\left|(a)_{n+1}\right|}{\left|(c)_{n+1}\right|} a_n$$

$$\leq \frac{1}{r} + \frac{(A-B)c}{(2-(A+B))}r + \frac{(A-B)(1-c)}{(3-(2B+A))}r^{2}$$

and

$$\begin{split} |f(z)| &\geq \frac{1}{z} - \frac{(A-B)c}{(2-(A+B))}z - \sum_{n=2}^{\infty} \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n z^n, \quad (|z|=r) \\ &\geq \frac{1}{r} - \frac{(A-B)c}{(2-(A+B))}r - r^2 \sum_{n=2}^{\infty} \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n \\ &\geq \frac{1}{r} - \frac{(A-B)c}{(2-(A+B))}r - \frac{(A-B)(1-c)}{(3-(2B+A))}r^2 \end{split}$$

Thus the proof of the theorem is complete.

**Theorem 4** If the function f(z) defined by (13) is in the class  $\Sigma^*(A, B, k, c)$ for 0 < |z| = r < 1, then we have

$$\frac{1}{r^{2}} - \frac{(A - B)c}{(2 - (A + B))} - \frac{(A - B)(1 - c)}{(3 - (2B + A))}r \le |f'(z)|$$

F. Ghanim, M. Darus

$$\leq \frac{1}{r^2} + \frac{(A-B)\,c}{(2-(A+B))} + \frac{(A-B)\,(1-c)}{(3-(2B+A))}r.$$

with equality for

$$f_2(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \frac{(A-B)(1-c)}{(3-(2B+A))}z^2.$$

*Proof.* From Theorem 2, it follows that

(19) 
$$n \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n \le \frac{(A-B)(1-c)}{n^{k-1}(n(1-B)+(1-A))}, \quad n \ge 2.$$

Thus, for  $0 < |\mathbf{z}| = r < 1$ , and making use of (19), we obtain

$$\begin{split} |f'(z)| &\leq \left|\frac{-1}{z^2}\right| + \frac{(A-B)c}{(2-(A+B))} + \sum_{n=2}^{\infty} n \frac{\left|(a)_{n+1}\right|}{\left|(c)_{n+1}\right|} a_n \left|z\right|^{n-1}, \quad (|z|=r) \\ &\leq \frac{1}{r^2} + \frac{(A-B)c}{(2-(A+B))} + r \sum_{n=2}^{\infty} n \frac{\left|(a)_{n+1}\right|}{\left|(c)_{n+1}\right|} a_n \\ &\leq \frac{1}{r^2} + \frac{(A-B)c}{(2-(A+B))} + \frac{(A-B)(1-c)}{(3-(2B+A))} r. \end{split}$$

and

$$\begin{split} |f'(z)| &\geq \left|\frac{-1}{z^2}\right| - \frac{(A-B)c}{(2-(A+B))} - \sum_{n=2}^{\infty} n \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n |z|^{n-1}, \quad (|z|=r) \\ &\geq \frac{1}{r^2} - \frac{(A-B)c}{(2-(A+B))} - r \sum_{n=2}^{\infty} n \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n \\ &\geq \frac{1}{r^2} - \frac{(A-B)c}{(2-(A+B))} - \frac{(A-B)(1-c)}{(3-(2B+A))} r. \end{split}$$

The proof is complete.

20

#### 5 Radii of Starlikeness and Convexity

The radii of starlikeness and convexity for the class  $\Sigma^*(A, B, k, c)$  is given by the following theorem:

**Theorem 5** If the function f given by (13) is in the class  $\Sigma^*(A, B, k, c)$ , then f is starlike of order  $\delta(0 \leq \delta \leq 1)$  in the disk  $|z| < r_1(A, B, k, c, \delta)$ where  $r_1(A, B, k, c, \delta)$  is the largest value for which

$$\frac{(3-\delta)(A-B)c}{(2-(A+B))}r^2 + \frac{(n+2-\delta)(A-B)(1-c)}{n^k(n(1-B)+(1-A))}r^{n+1} \le (1-\delta).$$

for  $n \ge 2$ . The result is sharp for function  $f_n(z)$  given by (16).

*Proof.* It is enough to highlight that

$$\left|\frac{(z)f'(z)}{f(z)} + 1\right| \le 1 - \delta$$

for  $|z| < r_1$ . we have

$$(20) \quad \left|\frac{(z)f'(z)}{f(z)} + 1\right| = \left|\frac{\frac{2(A-B)c}{(2-(A+B))}z + \sum_{n=2}^{\infty}(n+1)\frac{|(a)_{n+1}|}{|(c)_{n+1}|}a_nz^n}{\frac{1}{z} - \frac{(A-B)c}{(2-(A+B))}z - \sum_{n=2}^{\infty}\frac{|(a)_{n+1}|}{|(c)_{n+1}|}a_nz^n}\right| \le 1 - \delta.$$

Hence (20) holds true if

$$\frac{2(A-B)c}{(2-(A+B))}r^2 + \sum_{n=2}^{\infty} (n+1) \frac{|(a)_{n+1}|}{|(c)_{n+1}|} |a_n| r^{n+1}$$

(21) 
$$\leq (1-\delta) \left( 1 - \frac{(A-B)c}{(2-(A+B))} r^2 - \sum_{n=2}^{\infty} \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n r^{n+1} \right).$$

or

(22) 
$$\frac{(3-\delta)(A-B)c}{(2-(A+B))}r^2 + \sum_{n=2}^{\infty} (n+2-\delta)\frac{|(a)_{n+1}|}{|(c)_{n+1}|}a_nr^{n+1} \le (1-\delta)$$

and it follows that from (14), we may take

(23) 
$$a_n \leq \frac{|(c)_{n+1}|}{|(a)_{n+1}|} \frac{(A-B)(1-c)}{n^k (n(1-B) + (1-A))} \lambda_n, \qquad (n \geq 2)$$

where  $\lambda_n \ge 0$  and  $\sum_{n=2}^{\infty} \lambda_n \le 1$ .

For each fixed r, we choose the positive integer  $n_o = n_o(r)$  for which

$$\frac{n+2-\delta}{n^k \left(n \left(1-B\right)+(1-A)\right)} \left|\frac{(a)_{n+1}}{(c)_{n+1}}\right| r^{n+1}$$

is maximal. Then it follows that

(24) 
$$\sum_{n=2}^{\infty} (n+2-\delta) \frac{|(a)_{n+1}|}{|(c)_{n+1}|} a_n r^{n+1}$$

$$\leq \frac{(n_o + 2 - \delta) (A - B) (1 - c)}{n_o^k (n_o (1 - B) + (1 - A))} r^{n_o + 1}.$$

Then f is starlike of order  $\delta$  in  $0 < |\mathbf{z}| < r_1(A, B, k, c, \delta)$  provided that

(25) 
$$\frac{(3-\delta)(A-B)c}{(2-(A+B))}r^{2} + \frac{(n_{o}+2-\delta)(A-B)(1-c)}{n_{o}^{k}(n_{o}(1-B)+(1-A))}r^{n_{o}+1} \leq (1-\delta)$$

we find the value  $r_o = r_o(k, \beta, c, \delta, n)$  and the corresponding integer  $n_o(r_o)$ so that

(26) 
$$\frac{(3-\delta)(A-B)c}{(2-(A+B))}r^2 + \frac{(n_o+2-\delta)(A-B)(1-c)}{n_o^k(n_o(1-B)+(1-A))}r^{n_o+1}$$
$$= (1-\delta)$$

Then this value is the radius of starlikeness of order  $\delta$  for function f belonging to the class  $\Sigma^*(A, B, k, c)$ . On Class of Hypergeometric Meromorphic Functions with ...

**Theorem 6** If the function f given by (13) is in the class  $\Sigma^*(A, B, k, c)$ , then f is convex of order  $\delta(0 \le \delta \le 1)$  in the disk  $|z| < r_2(A, B, k, c, \delta)$ where  $r_2(A, B, k, c, \delta)$  is the largest value for which

$$\frac{(3-\delta)(A-B)c}{(2-(A+B))}r^2 + \frac{(n+2-\delta)(A-B)(1-c)}{n^{k-1}(n(1-B)+(1-A))}r^{n+1} \le (1-\delta).$$

The result is sharp for function  $f_n$  given by (16).

*Proof.* By using the same technique in the proof of theorem (5) we can show that

$$\left| \frac{(z) f''(z)}{f'(z)} + 2 \right| \le (1 - \delta).$$

for  $|z| < r_2$  with the aid of Theorem 2. Thus , we have the assertion of Theorem 6.

### 6 Convex Linear Combination

Our next result involves a linear combination of function of the type (13).

#### Theorem 7 If

(27) 
$$f_1(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z$$

and

(28) 
$$f_n = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z +$$

$$\sum_{n=2}^{\infty} \frac{\left| (c)_{n+1} \right|}{\left| (a)_{n+1} \right|} \frac{(A-B)\left(1-c\right)}{\left(n\left(1-B\right)+(1-A)\right)} z^n, \qquad n \ge 2.$$

Then  $f \in \Sigma^*(A, B, k, c)$  if and only if it can expressed in the form

(29) 
$$f(z) = \sum_{n=2}^{\infty} \lambda_n f_n(z)$$

where  $\lambda_n \ge 0$  and  $\sum_{n=2}^{\infty} \lambda_n \le 1$ .

*Proof.* From (27),(28) and (29), we have

$$f(z) = \sum_{n=2}^{\infty} \lambda_n f_n(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z +$$

$$\sum_{n=2}^{\infty} \frac{\left| (c)_{n+1} \right|}{\left| (a)_{n+1} \right|} \frac{(A-B)\left(1-c\right)\lambda_n}{\left(n\left(1-B\right)+(1-A)\right)} z^n.$$

Since

$$\sum_{n=2}^{\infty} \frac{\left| (c)_{n+1} \right| (A-B) (1-c) \lambda_n}{\left| (a)_{n+1} \right| (n (1-B) + (1-A))} \cdot \frac{\left| (a)_{n+1} \right| (n (1-B) + (1-A))}{\left| (c)_{n+1} \right| (A-B) (1-c)}$$

$$=\sum_{n=2}^{\infty}\lambda_n=1-\lambda_1\leq 1$$

it follows from Theorem 2 that the function  $f\in \Sigma^*(A,B,k,c).$ 

Conversely, let us suppose that  $f \in \Sigma^*(A, B, k, c)$ . Since

$$a_n \le \frac{\left| (c)_{n+1} \right|}{\left| (a)_{n+1} \right|} \frac{(A-B)(1-c)}{n^k \left( n \left( 1-B \right) + (1-A) \right)}, \qquad (n \ge 2).$$

Setting

$$\lambda_n = \frac{n^k \left| (a)_{n+1} \right| \left( n \left( 1 - B \right) + (1 - A) \right)}{\left| (c)_{n+1} \right| \left( A - B \right) \left( 1 - c \right)} a_n.$$

and

$$\lambda_1 = 1 - \sum_{n=2}^{\infty} \lambda_n$$

It follows that

$$f(z) = \sum_{n=2}^{\infty} \lambda_n f_n(z)$$

Thus complete the proof of the theorem.

**Theorem 8** The class  $\Sigma^*(A, B, k, c)$  is closed under linear combination.

*Proof.* Suppose that the function f be given by (13), and let the function g be given by

$$g(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \sum_{n=2}^{\infty} |b_n|z^n, \qquad (b_n \ge 2).$$

Assuming that f and g are in the class  $\Sigma^*(A, B, k, c)$ , it is enough to prove that the function H defined by

$$H(z) = \lambda f(z) + (1 - \lambda) g(z) \qquad (0 \le \lambda \le 1)$$

is also in the class  $\Sigma^*(A, B, k, c)$ .

Since

$$H(z) = \frac{1}{z} + \frac{(A-B)c}{(2-(A+B))}z + \sum_{n=2}^{\infty} |a_n\lambda + (1-\lambda)b_n|z^n,$$

we observe that

$$\sum_{n=2}^{\infty} \frac{|(a)_{n+1}|}{|(c)_{n+1}|} \left[ n^k \left( n \left( 1 - B \right) + (1 - A) \right) \right] |a_n \lambda + (1 - \lambda) b_n| \le (A - B) \left( 1 - c \right).$$

with the aid of Theorem 2. Thus  $H \in \Sigma^*(A, B, k, c)$ . Hence the theorem.

Acknowledgement: The work here is fully supported by UKM-GUP-TMK-07-02-109, UKM Research Grant.

#### References

- M. K. Aouf, On certain class of meromorphic univalent functions with positve coefficient, Rend. Mat. Appl., 11(2), 1991, , 209-219.
- M. K. Aouf and H.E. Darwish, Certain meromorphically starlike functions with positive and fixed second cofficient, Tr. J. Math., 21, 1997, 311-316.
- [3] S. K. Bajpai, A note an a class of Meromorphic univalent functions, Rev. Roumaine Math. Pures Appl., 22 (3), 1977, 295-297.
- [4] N. E. Cho and I. H. Kim, Inclusion properties of certain classes of meromorphic functions associated with the generalized hypergeometric function, Appl. Math. Comput., 187, 2007, 115-121.
- [5] N. E. Cho, S. H. Lee and S. Owa, A class of meromorphic univalent functions with positive coefficients, Kobe J. Math., 4(1), 1987, 43-50.
- [6] J. Dziok and H. M. Srivastava, Some subclasses of analytic functions with fixed argument of coefficients associated with the generalized hypergeometric function, Adv. Stud. Contemp. Math., 5, 2002, 115-125.
- J. Dziok and H. M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function, Trans. Spec. Funct., 14, 2003, 7-18.
- [8] B. A. Frasin and M.Darus, On certain meromorphic functions with positive coefficients, South East Asian Bull. Math., 28, 2004, 615-623.

- [9] F. Ghanim, M. Darus and A. Swaminathan, New subclass of hypergeometric meromorphic functions, Far East J. Math. Sci. (FJMS), 34 (2), 2009, 245 - 256.
- [10] J. L. Liu, A linear operator and its applications on meromorphic pvalent functions, Bull. Inst. Math. Acad. Sinica, 31, 2003, 23-32.
- [11] J. L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl., 259, 2001, 566-581.
- [12] J. L. Liu and H. M. Srivastava, Certain properties of the Dziok-Srivastava operator, Appl. Math. Comput., 159, 2004, 485-493.
- [13] J. L. Liu and H. M. Srivastava, Classes of meromorphically multivalent functions associated with the generalized hypergeometric function, Math. Comput. Modell., 39, 2004, 21-34.
- [14] H. Silverman and E. M. Silvia, Fixed coefficient for subclasses of starlike functions, Houston J. Math., 7, 1981, 129-136.
- [15] B. A. Uralegaddi, meromorphiclly starlike functions with positive and fixed second coeficient, Kyungpook Math. J., 29 (1), 1989, 64-68.
- [16] B. A. Uralegaddi and M. D. Ganigi, A Certain class of Meromorphically starlike functions with positive coefficients, Pure Appl. Math. Sci., 26, 1987, 75-80.

School of Mathematical Sciences Faculty of Science and Technology Universiti Kebangsaan Malaysia Bangi 43600 Selangor D. Ehsan, Malaysia E-mail: Firas.Zangnaa@gmail.com E-mail: \*maslina@ukm.my \*-corresponding author